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ECONOMICS
PAPER - 11

L ETES

Ty-I1
Note :This paper contains FIFTY (50) multiple-choice, assertion/reasoning/

matching questions, each question carrying TWO (2) marks. Attempt All

the questions.

W9 AW e ya (o) aglaselly uall, WY-ME 2 Assi oi-itqan s

B. M Usloll e vttt B, udls Ny @ () = 8.

In a competitive market each seller
has limited control over the price of
his/her product because :

(A) Other sellers sell similar
products

(B) Buyers influence prices more
than sellers

(&) Competi'tive markets are
usually  controlled by
governments

(D) Sellers agree to fix a common
price so as to maximize their
profits

Pizza is a normal good if :

(A) Demand for pizza falls when
its price rises .

(B) Demand curve for pizza slopes
downwards and is non-linear

(C) Demand for pizza is positively

related to income of the \

consumer

(D) Demand curve for pizza shifts
to right when the price of
burger falls, assuming that
pizza and burger are substitute
goods
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A price ceiling is binding when it

is fixed :

(A) Above the equilibrium price,
causing a shortage

(B) Above the equilibrium price,
causing a surplus

(C) Below the equilibrium price,
causing a shortage

(D) Below the equilibrium price,
causing a surplus

Producer’s surplus is the area :

(A) Under the supply curve

(B) Below the price and above the
supply curve

(C) Between the demand and
supply curves

(D) Under the demand curve and
above the price

When a tax is imposed on a

commodity that is sold in a perfectly

competitive market the following

will happen :

(A) Price of that commodity will go
up

(B} Demand curve for that
commodity will shift to the left

(C) Price of the commodity
remains unchanged, but
quantity demanded and
supplied change

(D) Priece of the commodity
changes but the quantity
demanded and supplied
remains unchanged
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When both price and quantity

(demanded and supplied) of a

commodity increase, it is due to :

(A) Shift in the supply curve to the
left

(B} Shift in demand curve to the
left

(C) (A) and (B)

(D) Shift in demand curve to the
right

If a tax on a good is imposed for

which the demand is relatively

inelastic and supply is relatively

elastic :

(A) Buyers of the good will bear
most of the burden of the tax

(B) Sellers of the good will bear
most of the burden of the tax

(C) The volume of good sold in the
market will expand

(D) The effective price paid by
buyers of the good will fall
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10.

To reduce the rate of

unemployment, Keynesians would

suggest the following :

(A) Increase money supply and
reduce taxes

(B) Reduce money supply and
increase taxes

(C) Increase money supply and
increase taxes |

(D) Réduce money supply and
reduce taxes

Permanent income hypothesis was

given by :

(A) John Maynard Keynes

(B) James Tobin

(C) Milton Friedman

(D) James Duesenberry

According to Keynesian economics,

increase in government expenditure

can promote growth if :

(A) Aggregate supply curve is
horizontal

(B) Aggregate supply curve is
vertical

(C) Aggregate supply curve is

forward sloping

(D) (A) and (C)
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11.

12,

Money-multiplier is the ratio of :

(A) Stock of money to bank

reserves

(B) Stock of money to high-

- powered money

(C) Stock of money tc; foreign
exchange réserves

(D) Stock of broad-money to stock
of narrow money

Long-run Phillips curve will be

vertical if :

(A) The expected rate of inflation

equals actual rate of inflation

(B) Expectations formed by
economic agents are based on
adaptive or error-learning

process

(C) Workers suffer from money-

1llusions

D) (A) and (C)
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13.

14.

Liquidity preference theory is most

relevant to the :

{A) Short-run and postulates that

price level adjusts to
equilibriate demand and

supply of money

(B) Short-run and postulates fhat

interest rate adjusts to-

equilibriate demand and
supply of money

(C) Long-run and postulates that
price level brings about
equality between demand and
supply of money

(D) Long-run and postulates that
interest rate brings about
equilibrium between demand
and supply of money

If the marginal propensity to save

and import in an open economy are

0.3 and 0.15, respectively, then the

magnitude of foreign trade

multiplier will be :

(A) 0.55

(B) 3.33

C) 2.22

(D) 6.67
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15.

16.

17.

According to Karl Marx, rate of

profit has tendency to fall because

of :

(A) increase in organic composition
of capital

(B) increase in variable capital

© increase in total capital

(D) increase in ﬁxed capital

Schunipeter,

development- of the economy

According to

depends on :

(A Innovations

(B) Only on total capital

(C) Supply of labour

(D) Awvailability of variable capital

Warranted rate of growth in

Harrod-Domar model i1s :

(A) the rate of growth which
represents entrepreneurial
equilibrium

(B) maximum possible rate of

growth that can be achieved in

the longrun

(C) the rate of growth which

ensures fﬁll employment of all

factors of production

(M) The rate of growth which
ensures full employment of

labour
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18. Critical minimum effort thesis is

associated with :
(A) Leibenstein
(B) R.R. Nelson
(C) J.R. Hicks
(D) B. Higgins

19. The theory of “Big Push” is

associated with the name of :
(A) Rosenstein-Redan
(B} W.W. Rostow
(C) Karl Marx
(D) H.S. Ellis
20. Human Poverty Index excludes :

(A) The percentage of population
not expected to survive to the

age of 40
(B) The adult illiteracy rate
{C) Deprivation Index

(D) Real per capita income
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21.

22.

23.

(A)

Density of population is the ratio
of :

Total population to total rural

land area

(B} Total population to total urban

land area

(C) Total population to total land

darea

(D) Total population to total state

area

The most important item of
expenditure on revenue account of

the Central Government is :
(A) Subsidies

(B) Interest payment

(C) Defence

(D) Fiscal services

Which of the following is the least
percentage of GDP in India ?

(A) Gross Fiscal Deficit
(B) Net Fiscal Deficit
(C) Revenue Deficit

(D) Gross Primary Deficit
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24.

25.

26.

Who among the following
economists, propounded the canon

of taxation ?

(A) Adam Smith
(B). David Ricardo
(Cy AC. Pig(;u

(D) Findlay Shirras

Which of the following tax is levied
by the centre and not divided
between the centre and the

states ?

(A) Income Tax

(:B). Union Excise Duty .
(C) Wealth Tax

(D) Corporation Tax

Which of the following Indian Act
has been replaced by the enactment
of FEMA in 1999 ?

(A) FERA

(B) Indian Copyright Act
(C) Indian Patent Act

(D) Direct Tax Act
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27. In a competitive market a tax on

wage income falls totally on labour

when

(A)
(B)
(©)

(D)

Labour Supply is elastic
Labour Supply is highly elastic

Labour Supply is inelastic

Demand for product is’

infinitely elastic

28.. Direct Tax Revenue as a proportion

of gross tax revenue in 2009-10

(B.E.) is :

(A)

57.7

(B) 472

(C)

D)

40.5

50.4

29. Who gave the absolute cost

advantage theory ?

(A)
(B)
(€
D)
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30.

3L

32.

Heckscher-Ohlin theory states that 39

international trade takes place

because of :
(A) Differences in labour
productivity
(B) Differences in political
_ economy
(C) Differences in factor
endowment
(D) Differences in research and

development

If the country sells its product in 31,

a foreign market at a price which
is lower than home market, it is

termed as :
(A) Cartel
(B) Dumping
(C) Subsidy

(D) Both (A) and (C)

The invisible item in the balance of 32,

payment is :

(A) Gifts

(B) Shipping

(C) Export of goods
(D) Travel
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33. One of the ways to correct adverse

balance of payment is :

(A)
(B)
(©

(D)

Reduction in custom duties
Reduction in taxes
Revaluation of carrency

Devaluation of currency

34. Under increasing opportunity

cost conditions, with opening of

trade :

(A)

(B)

(&),

(D)

Eco.-I1

incomplete specialisation is

better than complete

specialisation in production

Complete specialisation in
production of one of the

commodities is not possible

Complete specialisation in
production of one of the
commodities maximises

welfare of the society

Complete specialisation in

production of one of the

commodities is possible only in

one country
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35. The empirical verification of  35.

Heckscher-Ohlin trade theorem was
first attempted by :

(A} Paul Samuelson
(BY W.W. Leontief
(C) Bela Balassa

(D) Jagdish Bhagwati

36. The base of Consumer Price Index  gg

for Industrial workers is being
shifted from 1982 to :

(A) 1995
(B) 1998
(C) 1999
(D) 2001

37. Which among the following is
- effectively controlling the share
market in India ?

(A} MRTP Act
(B) FERA

(C) BIFR

(D) SEBI

38. Human Development Index was
originally developed by :

(A) Planning Commission
(B) UNDP
(C) SAARC

(D) G-7 Countries
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39.

40,

41.

42.

Sustainable development means :

(A) Maximising current per

capita income

(B) Growth without sacrificing
the needs of the future

generation
(C) Minimising poverty

(D) Sustaining low budget deficit
After the announcement of RBI for
the hike in repo rate and reverse
repo rate on April 20, 2010 which
of the following rate stands at the
minimum ?

(A) Bank rate

(B) Cash Reserve Ratio

{C) Repo rate

(D) Reverse Repo Rate

According to 2001 census, Indian

population was :

(A) 98.7 crore

(B) 100.0 crore-

(C} 1029 crore

(D) 105.7 crore

Narsimham Committee was related

to :

(A)

(B)

(C)

(D) Planning Implementation
Reforms

High Education Reform
Tax Structure Reforms
Banking Structure Reforms
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45.

43.

44,

An expert committee on climate 43.

change has been formed by the
Ministry of Environment and Forest
under the Chairmanship of :

(A) R. Chidambaram

" (B) V. Siddhartha

(C) A. Raja

(D) Nirmala Deshpande
Mean is a :

(A)
(B)
(C)
(D}
The

Mathematical Average
Positional Average

(A) and (B) above
Qualitative Average

concept of central tendency
implies :

(A) Dispersion

(B) Correlation

{C) Average

. (D) (A) and (C) above 46,
46.

Correlation is a measure of :
(A} How one variable affects other
variable

(B) Closeness of relationship
between two variables

(C) How much one variable is
dependent on the value of
other variable

(D) Vanation in one variable
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47.

49.

50.

The mosﬁ widely used method of
calculating correlation is :

(A) Spearman’s

(B) Secatter diagram

(C) Karl Pearson’s

(D) Bowley’s
Variance of
Distribution is :
(A) np

(B) nq

(C) pq

(D) npq

The value of coefficient of

the Binomial

correlation. lies between :
(A) -1 and +1
(B) 0 and +1

" (C) 0 and -1

(D) 0 and «

When y = 50 + 5x, it says :

(A) When x changes by 1 unit, y
will change by 5 units

(B) When x changes by 1 unit, y
will change by 5 percent

(C) When x changes by 1 per cent,
y will change by 5 per cent

(D) When x changes by 1 per cent,

-y will cﬁmge by 5 units
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(guél Qaee Qaw :
(A) np

(B) nq

(C) pq

D) npq 9.
AsAoaisdl Bug :

(A) -1 v +1

(B) 0 4 +1

(€ 0 4 -1
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ROUGH WORK
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